
Notation Scientifique (B)Écrivez chaque nombre ci-dessous en notation standard.
9,8 × 10⁻³ = 7,18 × 10⁻⁶ =

1,99 × 10⁻⁶ = 2 × 10⁻⁶ =
5,69 × 10⁻⁴ = 3,646 × 10⁻⁶ =

7,791 × 10⁻⁵ = 1 × 10⁻⁴ =
4,253 × 10⁻³ = 1,79 × 10⁻⁷ =
2,611 × 10⁻⁴ = 2,29 × 10⁻⁵ =
1,546 × 10⁻⁵ = 6,813 × 10⁻⁷ =

7,6 × 10⁻⁵ = 7,561 × 10⁻⁷ =
4,13 × 10⁻³ = 7,937 × 10⁻⁶ =
9,5 × 10⁻⁸ = 3,86 × 10⁻⁸ =
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Notation Scientifique (B) SolutionsÉcrivez chaque nombre ci-dessous en notation standard.
9,8 × 10⁻³ = 0,0098 7,18 × 10⁻⁶ = 0,00000718

1,99 × 10⁻⁶ = 0,00000199 2 × 10⁻⁶ = 0,000002
5,69 × 10⁻⁴ = 0,000569 3,646 × 10⁻⁶ = 0,000003646

7,791 × 10⁻⁵ = 0,00007791 1 × 10⁻⁴ = 0,0001
4,253 × 10⁻³ = 0,004253 1,79 × 10⁻⁷ = 0,000000179
2,611 × 10⁻⁴ = 0,0002611 2,29 × 10⁻⁵ = 0,0000229
1,546 × 10⁻⁵ = 0,00001546 6,813 × 10⁻⁷ = 0,0000006813

7,6 × 10⁻⁵ = 0,000076 7,561 × 10⁻⁷ = 0,0000007561
4,13 × 10⁻³ = 0,00413 7,937 × 10⁻⁶ = 0,000007937
9,5 × 10⁻⁸ = 0,000000095 3,86 × 10⁻⁸ = 0,0000000386
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